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TrigonometryExercise for No.l

) 5 6 X X
Nol = (sm(A) = ;j, No2 = (cot(A) = ;], No3 = (tan(A) = gj, No4 = (csc(A) = E]

| I=(y=sin(0)) 2= (y=6cos(6)) 3= (y=sin(20))

1 0
4=(y=4sin(60)) _5:(y:gsin(49) 6= y:—4cos(5j+3j
7_( _ (TC_GD 8—( _ L 470 lj A

7= y=-2cos 8= y_—2sm( n0)+ TH
5 (ﬂ] _ 3 (1] _ 2
e | 772702 yESsily) yEeso -
. —é' 2 2 =3 2 3 s
y—2SIIl( x)+2 y=3cos(2mx)+ TH
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TrigonometryExercise Answers for No.l
24/6 s4/6 7 74/6 zﬁ} {ﬁ}
7 12 o

,tan(A4) = ,csc(A4) = sec(A) = T, cot(4) = s >

7 '\/ 85 64/85 7 A/ 85 A/ 85 4 6} {«/ ) }
, CO = N
85 7 6

g5 cos(4) = ,tan(4) = csc(A) = ,sec(A4) = (

Am3={QMA):——;L——ﬂmﬂA):——JL——tm(A)_ ,esc(A)=—""—— %d Y= “A)_él

A/ X’ +25 q/x2+25 X

2 2

Ans4:{sin(A)=g,cos(A):—v_4+x,tan(A):—2 oso(d) = sec(d) = ’Cot(A):’\/—4+x }
* x A4+ 5 2 N 2

Ansl = [ sin(4) = 2 cos(A) =

Ans2 = {sin(A) =

[ Ans.i=[y=sin(0),27, 1,[-1,1]] l(
Ans.2 =[y=6co0s(0),2 7, 6,[-6,6]] ')
Ans.3=[y=sin(20),w, 1,[-1,1]] _ - =

n 3 EX o
Ans.4:{y:4sin(69),;,4,[-4,4]} y=2sm ; , black Pl
1 nl[-11 X :(

Ans.5={ ——sin(4 0 ,—,—,[—,—H [J’:—?} s1n( j, cyan} .
Anss = A | R 2 | 2
0 [y=—cos(x)—2, blue] o
Ans.6=[y:—4cos(—)+3,4n,4,[-1,7]} 5 2)
2 y=Tsin(2x) + 2, green -
70 2 (
Ans.7 =| y=-2 cos T ,8,2,[-2,2] L[y=3cos(2mx)+3,red]] :)
Ans.8 = [ _ 410 lll[léﬂ !
i ns. y= —2s1n( no)+ » 21221 l(
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